JQIIIQB/\FL
SALES

For:

§

HARTZELL PROPELLERS

fetu’gtt ai'zcﬂméf Gompaml'

ALLENTOWN-BETHLEHEM AIRPORT
ALLENTOWN, PENNSYLVANIA

Chris Stoltzfus

Ship to the Company Via

PURCHASEXORDER

Distributor
Redio Frequency Laboratory Redios

Telephone: Catasauqua 11

April 24,
No.

Dealer: RYAN, STINSON

Manager

1945

SERVICE & STORAGE
AERIAL PHOTOGRAPHY
AERIAL ADVERTISING
FLYING INSTRUCTION
CHARTER & SIGHTSEEING TRIPS

WILFRED M. POST, Ji.

Mail Invoice in DUPLICATE

ITEM QUANTITY UNIT PART NO. DESCRIPTION
le 3 75043 Stack Assy. exhaust - left
2. 3 73163 " " " right
3 3 70581=2
4, 6 70691=2 Clamp assy. stack to muffler connecting
{7 12 70591=-3 » " exhaust prot attachment
6. 3 74234 Engine - mount
Te 3 73203 Cowl assy. emginectop
Be 3 73223 " i & bottom
9 3 70771 Clamp - gagshut off control cable
10, 3 71041 Gauge &% Cap - fuel tank
11, 3 AT5 Tank assy. fuel 12 gals,
12, 3 72432 Line assy. fuel ( tank to fuel strainer)
Copper - 11 5/8"
13, 3 82332-10 | Line type B-oil pressure 1/4" x 42"
14, 3 71061 & : e y flex., 1/8" x 56 1/8"
5. 3 50881 Box - carburetor heat control (Type B)
16. 3 50611 Well - gas shut-off (Type B)
17, 3 22443 Cowl - fuselage = Type C
18, 3 71991 Bracket - fuel strainer hangar
19, 3 74261 Brace - motor mount cowl - right
20. 5 742?1 " n " W le ft
2l 6 72871 Channel - Manifold hangzar
22, 6 72861 Hangars - manifold
23, 3 74251 Bracl®et = nose cow 1
24, 6 71242-6 Line primer, tee to left bank'1/8" x 35"
25, 6 761 " ¥ "o oright " 1/0%aeeor
26 3 AT9 Strap assy. fuel tank front - 303"
2T 3 - AT00C " " " "  rear 263" upper
28, 3 A701 by " " " " 28 3/4"lewer
29, 3 A702 :; " P " front 253" lower
30. 3 71061 Line flex, primer 5%"
- 3 7036 "  Primer inlet - 1/8" x 46"
32, 3 727 . "  outlet - 1/8" x 30"
33 3 71242-6 - " tee to left bank 1/8" x 35"
34, 3 41471 Cable - zas shut-off control (flexible)
35, 3 Shaft & housing - tachometer (31fleng)

: Ken Stoltzfus Collection

www.john2031.com

Approved by

PRICE
_ELLQO—_. —m—_
35460 [ 106 8¢
3197 95 .91
032 o 9€
«60 3 6L
«55 6 «6C
41,29 123,87
19,37 58,11
23432 69,96
«26 o T8
1,40 4,2(
50459 91,7
1.20 3 e6C
95 2,86
2.50 T 58
81 1.83
«38 2,64
32 .28 96 484
1.60 4,8C
38 1,14
38 1,14
.% .5(4
65 3.78
1,31 3 o9
95 K10
2 2 28
91 2,73
95 2«86
38 1,14
38 1.14
2450 T»5€
D4 1,62
46 1,38
55 1.68
1.88 5 .64
13975 528




AIRCRAFT
SALES

HARTZELL PROPELLERS

felu’glt ai'zc'zatf eompamf

SERVICE & STORAGE .
AERIAL PHOTOGRAPHY _
AERIAL ADVERTISING
FLYING INSTRUCTION
CHARTER & SIGHTSEEING TRIPS

Distributor
Redio Frequency Laboratory Radios

Desler: RYAN, STINSON

WILFRED M. POST, Jr.
ALLENTOWN-BETHLEHEM AIRPORT Manager

ALLENTOWN, PENNSYLVANIA
Telephone: Catasauqua 11

RURGHASE ORDER gt

P Chris Stoltzfus No.
continued
Ship to the Company Via Mail Invoice in DUPLICATE

ITEM QUANTITY UNIT PART NO. DESCRIPTION Price PRlcamt o
36, 3 70781 Valve ~ fuel shut-off 4,30 14.70
37 3 J2-859 Gauge = oil pressure 3.20| 9,60
38, 3 J2-860 " " temperature 4,60 13.80
394 3 41481 Cable - Carb, heater control (flex.) «65 1.95
40, 3 81721-3 Switch - ignition (for dual - Type B) 3.,01| 9.03
41. 3 80122-48 Washer - fuel tank neckérubber $14 .42
42, 3 72302 Strainer - fuel 2.65| 7495
43, 3 840562 Elbow = street ' o7 «81
44, 3 84382 Pipe bushing o 17 «51
45, 3 Pieces Padding - gas tank strap felt - per ft. »02 .60
46, 6 AN6-26 Bolts 3/8" x 2 3/4" 9,240 .55
47, 6 ANG-27 » 3/8" x 2 7/8" 9.580 .57
48 . 12 AN6-20 B 3/8% x 2" 7 «42( «89
49, 24 AN310-6 Nuts 3/8" - Castle 2.06Q .49
50, 6 AN4-20 Bolts 1/4" x 2" 4,74 .28
51, 24 AN960-616 | Washers 2 .60} «06
52. 6 AN960-416 | Washers 1,500 «01
63, 6 AN310-4 Castle nuts 1/4" 1,40 .08
791,69
Less 5% 39,58

TOTAL.........;;(*?Sz.u

Ken Stoltzfus Collection
www.john2031.com

Approved by




AIRCRAFT '
SALES

HARTZELL PROPELLERS

felu'glzt ai’zc'zatf eompaml

For:
Chris Stoltzfus

Ship to the Company Via

Distributor
Redio Frequency Laboratory Redios

Dealer: RYAN, STINSON

ALLENTOWN-BETHLEHEM AIRPORT
ALLENTOWN, PENNSYLVANIA
Telephone: Catasauqua 11

PURCHASEXQRRER

Manager

May 14, 1945

SERVICE & STORAGE

AERIAL PHOTOGRAPHY
AERIAL ADVERTISING &

FLYING INSTRUCTION

CHARTER & SIGHTSEEING TRIPS

WILFRED M. POST, Jr.

Mail Invoice in DUPLICATE

ITEM QUANTITY UNIT PART NO. DESCRIPTION Price PRICEAInt
1. 6 kﬁﬁ&ﬁx&ﬁ D002 0=-88 Shock strut assy. 18,98 |113.88
2e 3 31423 Cabane vee assy, 14,87 | 44.61]
S ) 31463 Land ing gear vee,left 49,86 |149 ,5¢
4, 3 31463-1 ” Ve % L .rhpht 49 .86 [|14945€
Se 3 J5~48 Instrument panels 4,00 || 12,0C
Ce 3 74414 Muffler assy., complete 46,14 [158 442

608407
Less 5% 3044
IOTAL. ® 9o 9 o o ° & @ .$ 577.67

I

2/

S AL
pLvke o
] 32727

Ken Stoltzfus Collection
www.john2031.com




